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HABAZADD LOBHS
InfrE st
PR IRRITEAR (AL : )
# PHE RIEEFHE o R w &
SRR L BIK
A
EANEUTRERA [ 66, 000, 000] | [ ol([ 66, 000, 000)
EEEHEIA ( 66, 000, 000) | ( 0|( 66, 000, 000)
BFERIZA 66, 000, 000 0 66, 000, 000
HFEEBHERAZ (1) 66, 000, 000 0 66, 000, 000
Xt
AP [ 7, 080, 000] | [ o] |( 7, 080, 000]
ER#EH 6, 000, 000 0 6, 000, 000
TS 5 720, 000 0 720, 000
EERAE 360, 000 0 360, 000
T [ 53, 531, 040] | [ 01([ 53, 531, 040]
BRRIM 11, 640, 000 0 11, 640, 000
A AREH 300, 000 0 300, 000
AKIE AR 3T 9, 600, 000 0 9, 600, 000
MR A ARIM 84, 000 0 84, 000
PRERE 1, 920, 000 0 1, 920, 000
TR 28, 380, 000 0 28, 380, 000
Y —REXH 431, 040 0 431, 040
OO#kX i 216, 000 0 216, 000
e 120, 000 0 120, 000
ik # 3T E B | 3840, 000 0 840, 000
EHERIH [ 2, 796, 000] | [ ulls 2, 796, 000]
BRIEAR XM 120, 000 0 120, 000
R INEL B X 120, 000 0 120, 000
BT X 240, 000 0 240, 000
IBE T 3 360, 000 0 360, 000
N L o] 240, 000 0 240, 000
ERETER T 720, 000 0 720, 000
FHEEX 300, 000 0 300, 000
B AT 96, 000 0 96, 000
X 600, 000 0 600, 000
SCEAF B3 L 654, 000] ([ 0]([ 654, 000]
FHIE T AT (2) 64, 061, 040 0 64, 061, 040
WHBRTDFESWTERG)=(1)-(2) 1,938, 960 0 1,938, 960
TR T K BN
IZA
TERRHEG S UG (4) 0 0 0
X
WMEEEASTEMRTH [ 1, 002, 000] | [ 0]|[ 1, 002, 000]
MR % 5 3 (5) | 1,002, 000 | 0 1, 002, 000
MEREE G R UK ZH(6) = (- (5) | a 1,002,000 | ol A 1,002, 000
ZOMOERT EHINE I
A
FDMOFEBILAG (T) 0 0 0
HH -
ST [c 624, 000] | [ ol 624, 000]
IBREAA T T SRR 624, 000 0 624, 000
= OHLDEBZ HFH8) 624, 000 0 624, 000
ZOfhoOBRBE LI ZEH ©)=(7)- () A 624, 000 [ 624, 000
TR (10) 0 0 0
LR LI ERAT
AD=(3)+(6) +(9)-(10) 312, 960 0 312, 960
AR STEL R ik (12) 0 0 0
LHIR TR LB (11)+(12) 312, 960 0 312, 960
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HEBWAEADD LOBILSE
DNIHEE
BAK FAY—ER - o (167 : /@)
) B FHE | MFETEE # B " =
FRERIC L BRE o
XA
B RBR S UL A L 23, 900, 000] | [ 0] 23, 900, 000]
BEEI IR S EMRA ( 19, 940, 000) | ( 0) 19, 940, 000)
RESNHERIEEIIA 19, 940, 000 0 19, 940, 000
FREEFIAEHEA ( 3, 960, 000) | ( 0) 3, 960, 000)
BEMMY— ERFBEILA 3, 960, 000 0 3, 960, 000
WEEBRAZH) 23, 900, 000 0 23, 900, 000
X
A 37 [ 17, 160, 000] | [ 0] 17, 160, 000]
ik B AR EEZ 15, 000, 000 0 15, 000, 000
BEEH 53X 1, 200, 000 0 1, 200, 000
HERRE X 960, 000 0 960, 000
LTI L 3, 093, 600] | [ 0] 3, 093, 600]
wRg 1, 437, 600 0 1,437, 600
i 2P - S 24, 000 0 24, 000
RN 24, 000 0 24, 000
RIS 120, 000 0 120, 000
A A3 24, 000 0 24, 000
AKGH B 360, 000 0 360, 000
FREHE ST 240, 000 0 240, 000
BRI 600, 000 0 600, 000
I3 -] 36, 000 0 36, 000
M 24, 000 0 24, 000
hrge it I 204, 000 0 204, 000
£/ o] [ 336, 000] | [ 0] 336, 000]
R AR 60, 000 0 60, 000
Jidr &t Ea g ad] 36, 000 0 36, 000
HRHFER I 36, 000 0 36, 000
IBEER 36, 000 0 36, 000
FHE 24, 000 1] 24, 000
MBI AMRX 24, 000 1] 24, 000
HESTHY 120, 000 0 120, 000
FHERHE(2) 20, 589, 600 0 20, 589, 600
FEET T ETERG)=(D-(2) 3,310, 400 0 3, 310, 400
SEAREE T £ BN
['&N
PERR G SR AL (4) 0 0 0
XH I
TERX AL T HE (5) 0 0 0
s e i S P 2N ST ZEH(6) = () - (6) 0 0 0
Z OO EBILE -
A
Z DRUOTHEFIMIAGH (7) 0 0 0
b B
% OMOTER S HET (8) 0 0 0
Z DM OTEBIE &I ZHH (9) =(7)-(8) 0 0 0
PR EH (10) 0 0 o
LBiE SR EHAF
(11)=(3)+(6)+(9)-(10) 3,310, 400 0 3, 310, 400
AR L P25 (12) 0 0 0
YKL A5G 1D +(12) 3, 310, 400 0 3, 310, 400
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H =] FHHE WEETHE " R
L R rs-2
A
TR S A [ 33,117, 552] | [ ol([ 33, 117, 552]
I LA ( 33,117, 552) | ( 0|« 33, 117, 552)
(eI )
Jr I 31, 050, 000 0 31, 050, 000
(FIAZEAHLIA)
NHARSIA (—Hk) 2, 087, 552 0 | 2, 067, 552
FEFEGIAG (1) | 33, 117, 552 0] 33, 117, 552
HH I '
AR L 24, 720, 000] | o]![ 24, 720, 000]
ik S AT 22, 200, 000 0 22, 200, 000
MAHSXMH 240, 000 0 240, 000
FEETW BAAE T 2, 280, 000 0 2, 280, 000
FEBIM [ 1,398, 000] |[ 0]/ { 1, 398, 000]
BAMBRXZH 120, 000 0 120, 000
AEHBRTH 240, 000 0 240, 000
EEEISH 360, 000 0 360, 000
IRERIE 240, 000 0 240, 000
IRt 2z % X 438, 000 0 438, 000
HEHRZH [ 240, 000] | [ ol([ 240, 000]
M 240, 000 0 240, 000
FRBEEHHEH2) 26, 358, 000 0 26, 358, 000
FEBHTLUZEBG)=(D-(2) 6, 759, 552 0 6, 759, 552
MREMEIC X BIX
A
HEARHA ARG (4) 0 0 0
K
MeEak Refiti % 3T i (5) 0 0 0
MR B LTI 2= (6)=(4) - (5) 0 0 0
FOMOFEIIC L HINEK
A
DM DEBURAG (7) 0 0 0
X
T DALDEB AT (8) 0 0 i
T OAMDTEEHZE LN ZZ=4(9)=(7)-(8) 0 0 0
TR (10) 0 0 0
LRSI TEREL
(11)=(3)+(6) +(9)- (10) 6, 759, 552 0 6, 759, 552
AR LR 2 (12) 0 0 0
BRI TERTER 1) +(12) - 6,759,552 | 0| 6, 759, 552
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